














If we choose ||.||_a and ||.||_a diverges for the sequence of vecs at hand, this inequality says that picking 
another norm ||.||_b does not lead to a different conclusion: Cm*||.||_a will push ||.||_b from below to 
infinity, together with CM*||.||_a, i.e., ||.||_b is sandwiched by norm ||.||_a. Another point: if ||.||_b 
converges, then the ineq says that  Cm*||.||_a also converges since it is smaller; therefore, CM*||.||_a 
will converge together with Cm*||.||_a with norm ||.||_b in between (again the sandwhich). We can find
inequalities for ||.||_a in between a sandwhich made with other constants and norm ||.||_b.









4) || I || = || I x I || <= || I ||  || I ||, then  || I ||>= 1   

E.g., || I_2 ||_F = || [1 0; 0 1] ||_F = || a ||_F = sqrt(2)>1
where a = vec(I_2) = [1 0 0 1]^T




















